Screened Ribbon Cables for MV DELTA'’s
Part Number : MVC3007-4001, MVC3007-4002 & MVC3007-4003

Features / Specifications :

e  Provides a screened ribbon cable between the MV3000e Controller and the DELTA Transistor Bridge
for improved noise immunity.

e Allows fitting to existing applications.

e  Simple to fit.

Box Contents

Quantity per assembly
Iltem Description MVC3007-4001 MVC3007-4002 MVC3007-4003

1) 41Y8215/10 Short, screened ribbon 1 1 1

cable
2) 41Y8215/20 Medium, screened ribbon 0 1 1

cable
3) 41Y8215/30 Long, screened ribbon 0 0 1

cable
4) 51Y1771/01 Controller earthing plate 1 1 1
5) 40001/300 M5 Nut 6 6 6
6) 40065/300 M5 spring washer 6 6 6
7) 40221/250 M4 x 6 Taptite screw 1 2 3
8) DPL0448/XX Label for ribbon cables 2 4 12
9 T1943EN Instruction sheet 1 1 1

Related Documents

Failure to comply with any of the general requirements for installation, operation and maintenance provided in the
technical manuals will significantly increase the risk of maloperation, fire or electric shock.

Refer to T1689, MV3000e Delta Technical Manual or T1693 MV3000e Liquid Cooled DELTA Manual for
information on the connections between the DELTA Transistor Bridge and the MV3000e Controller.

Introduction

This Instruction Sheet shows how to fit and earth screened ribbon cables between the MV3000e Controller and
DELTA transistor bridges.

MV3000e Controllers have three earth studs incorporated into the steelwork to allow earthing of the screened
ribbon cables. As older versions of the MV3000e Controller do not have these earth studs, an earthing plate is
provided in the kit.

Instruction Sheet T1943EN Revision 0002 (09/06)
Page 1of 6



Screened Ribbon Cables for MV DELTA'’s

Tool Requirements
Medium sized Pozi Drive (Cross head) screwdriver.

M5 Socket Drive or Spanner.

1 MV3000e Controller (MVC3001-4001) connections

1.1 If the MVV3000e Controller is not fitted with earth studs similar to those shown in Figure 1 :

() Remove and retain the two quantity, M4 x 6 long 'Taptite' screws from the positions adjacent to
PL8 and PL DELTA 1. These are labelled as "A" and "B" in Figure 1.

(i) Locate the metal bracket supplied as indicated in Figure 1, and fix using the two screws removed
in section 1.1 (i).

Remove and retain the two M4 x 6 long
"Taptite" screws at the positions marked
"A" and "B". On some models a third
screw may be fitted between these
positions — this should be removed and
discarded.

Locate the metal plate (with the six
studs) onto the control assembly as
shown.

Refit two "Taptite" screws at positions
"A" and "B" to secure the plate.

Figure 1: Assembly of earthing plate to early model MV3000e Controller

1.2 If not already done, install the MV3000e Controller following the guidelines in the relevant instruction
manual.

1.3 Fit the screened ribbon cable(s) into the correct connector(s), PL2 to PL7 as applicable. Ensure that the
end of the ribbon cable that is connected to the controller has the black jacket all the way up to the
connector, as shown in Figure 2.

1.4 Locate the M5 ring crimp on the flying lead over the stud and secure using the spring washer and nut
supplied loose in the bag.

See Figure 2 for a fully fitted MV3000e Controller.

Instruction Sheet T1943EN Revision 0002 (09/06)
Page 2 of 6



Screened Ribbon Cables for MV DELTA'’s

Figure 2: Completed assembly of 6 screened ribbon cables into MV3000e Controller
(and showing use of the earthing plate)

Instruction Sheet T1943EN Revision 0002 (09/06)
Page 3 of 6



Screened Ribbon Cables for MV DELTA'’s

2.1

2.2

2.3

Connections for MV3000e Air Cooled DELTA Transistor Bridge.
(MVD282-4501, MVD300-4601, MVD377-4501)

Note: These fitting instructions apply to the transistor bridge when fitted into a suitable enclosure,
following the recommended guidelines.

Refer to Figure 3 and fit the screened ribbon cable into PL1 on the DELTA Transistor Bridge Interface
Board. Ensure that this end of the screened ribbon cable has approximately 280 mm of ribbon cable un-
screened. Route the ribbon around onto the outside face of the insulating cover, and up towards the top of
the cubicle using the retaining clips to hold the cable.

Locate the M4 ring crimp on the flying lead to the earthing point, at the position indicated in Figure 3.
Secure using the M4 x 6 "Taptite" screw supplied loose with the screened ribbon cables.

Using the ribbon cable labels provided, attach the relevant labels to either end of the screened ribbon
cable. These labels will indicate the Plug Number (on the DELTA Controller) and the DELTA Bridge
Number (of the transistor bridge).

Ribbon Cable

Ribbon Cable
retaining clip

Earthing point
(M4 fixing screw)

Ribbon Cable

retaining clip >~

40-Way Ribbon Cable
connector PL1 for cable
from Controller

Figure 3: Routing and fitting of Screened Ribbon Cable to an Air Cooled DELTA Module

Instruction Sheet T1943EN Revision 0002 (09/06)
Page 4 of 6



3.1

3.2

3.3
3.4

Screened Ribbon Cables for MV DELTA'’s

Connections for MV3000e Liquid Cooled DELTA Transistor Bridge.
(MVDL643-4701, MVDL771-4501)

Note: These fitting instructions apply to the transistor bridge when fitted into a suitable enclosure,
following the recommended guidelines.

Remove and retain the M4 x 10 long screw that holds the SMPS mounting plate onto the vertical support.
Labelled as ‘C’ in Figure 4.

Fit the screened ribbon cable into PL1 on the Liquid Cooled DELTA Transistor Bridge Interface Board.
Ensure that this end of the screened ribbon cable has approximately 280 mm of ribbon cable un-screened.
Route the ribbon cable up the metal-work and towards the top of the cubicle.

Locate the M4 ring crimp on the flying lead at the fixing indicated as ‘C’. Secure using the M4 x 10 screw.

Using the ribbon cable labels provided, attach the relevant labels to either end of the screened ribbon
cable. These labels will indicate the Plug Number (on the MV3000e Controller) and the DELTA Bridge
Number (of the transistor bridge).

Ribbon Cable

Remove and retain
M4 X 10 long screw.
Position "C".

Fit screened ribbon \

cable and earth
cable at this point.

40-way ribbon cable

connector PL1 for —»
cable from MV3000

Controller

Figure 4 : Routing and fitting of Screened Ribbon Cable to MV Liquid Cooled DELTA Module

Instruction Sheet T1943EN Revision 0002 (09/06)
Page 5 of 6



Screened Ribbon Cables for MV DELTA'’s

Avid Controls, Inc.

41261 Park 290 Dr
Waller, TX 77484

+1 (281) 640-8600

Fax +1 (281) 640-8605
info@avidcontrolsinc.com
www.avidcontrolsinc.com

Customer Support and Training
Please refer to your local technical support centre if you have any queties about this product. Contact telephone
numbers are shown on this page.

Instruction Sheet T1943EN Revision 0002 (09/06)
Page 6 of 6



lsavell
Typewritten Text
Avid Controls, Inc.
41261 Park 290 Dr
Waller, TX 77484
+1 (281) 640-8600
Fax +1 (281) 640-8605
info@avidcontrolsinc.com
www.avidcontrolsinc.com


lsavell
Typewritten Text


	Features / Specifications :
	Box Contents
	Related Documents
	Introduction
	Tool Requirements
	1 MV3000e Controller (MVC3001-4001) connections
	 2 Connections for MV3000e Air Cooled DELTA Transistor Bridge.
	 3 Connections  for MV3000e Liquid Cooled DELTA Transistor Bridge.


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




